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2.2
1 E.RECT 9 C.CP
2 ERECTn 10 COMPgut
3 E.AG 11 COMP
4 GND 12 CNF
5 REF 13 Ve
6 E.NF 14 C. AGy
7 EXTour 15 C.RECT
8 E.Cp 16 C.RECT
31
’ Ta_mb: 25 0Cj
Vee 10 A\
Pp 1 w
Tamb '25 ~ 75 0Cj
Tye -55~ 150 C
3.2
’ Tamb: 25 0Cj ’ VCC:3V ’ f=1kHz ’ 0dB=-20dBV
ICCQ VCC:3V 2.7 5.0 mA
Vee 1.8 3.0 9 A%
VREF Vn=Vour -21.5 -20.0 -18.5 dBV
THDcomp _ _ 55 46
THDgxp Vin=0dB - -55 -46 dB
VNOC VIN — —0 - 0.5 - mV
VNOE f: 1 5HZ~20kHZ - 15 - uVv
CTc—g Vin=0dBV - -95 - dBV
CTg-c Vin=-12dBV - -55 - dBV
RRcowr _ -~ [ 30 | - | B
RRexp Vr=100mVrms - 60 5 B
= Q - -
(EXP) Vom Ri=10k 800 mV
FRc Vin=0dBV - +01 | - B
FRg =200~3.5kHz - +0.1 -
Voci | Vin=20dB -0.4 0.1 0.6
COMP VOCZ VlN: -20dB -0.5 0 0.5
1 Vocs | Vin=-40dB 06 | 0.1 0.4 dB
Vori | Vin=6.5dB -1.1 -0.1 0.9
EXP Vorz | Vinm=-10dB -0.9 0.1 1.1
VOE3 VIN: -25dB -1.0 0 1.0
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(COMP=0.5, EXP=2)
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4.2

LQTGN_D

3V

(1) lIcc
SW1--- ON

) Vce

(3) THDc, THDe
SW1--- ON

COMPN
(EXPiN

Vin=0dB
(0dB=-20dBV)

(5) C.T(C--E)
SW1--- ON

COMPIN

Vin=0dBV

Vout

3V

3V

(2) Vref
SW1--- ON

(4) Vnoc, Vnoe
SW1--- ON

COMPIN

(EXPIN Vin=a

T=15kHz--20kHz

(6) C.T(E--C)
SW1--- ON

Vin=-12dBV

COMPout
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(7) RRc, RRg
SW1--- OFF
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/ /
Vr=100mVrms
f=1kHz
(8) Vvom (9) Vocl,2,3, Voel,2,3
SW1--- ON SW1--- ON
COMP N
(EXPIN
3v
Vout
=(Vout-Vref)-VinX « B
(10) FRc, FRe a B: (COMP=0.5, EXP=2)
SW1--- ON
(0dB=-20dBV)
COMPIN Vocl—Vin=20dB Voel—Vin=6.5dB
(EXPw Voc2—-Vin=-20dB Voe2—Vin=-10dB
Voc3—Vin=-40dB Voe3—Vin=-25dB

Vin=0dB
f=200Hz-3.5kHz
f=1kHz

COMPout
: (EXPout)
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